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SOCIAL WORK
PAPER —1I

Note : This paper contains fifty (50) objective-type questions, each question carrying
two (2) marks. Attempt all of them.

1.  Concepts are known as :
A) Steps in Social Research
B

~—~

Causal explanation

C) Steps in Operationalization

(
(
(
(D) Building blocks of Theory

2.  Independent variables are generally shown on :

(A) Y axis (B) Xoaxis (C) Column (D) Row

3.  Match the pairs :

(a) The Industrial Disputes Act i 1961
(b) The Maternity Benefit Act (i) 1948
(c) The Contract Labour Act (iii) 1947
(d) The Minimum wages Act (iv) 1970
Code :
(@ B (o (@

(A) i) @ (@v) ()
(B) (@v) () @ (i)
© @O G @) @)
(D) @) (D) @v) ()

4.  Which of the following is not a nominal variable ?
(A) Buddhist (B) Indian (C) Catholic (D) 1Q Score
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YA —11
A : T YA H geE (50) IS U9 B 1 YA U % aF (2) 3 T 1 |t U F IW
S
1. STIYRONSH 1 F1 Hel STl &
(A) G WY | | (B) hE-TRU TIEIHII
(C) uR=ErTe ¥ €M (D) fag= & fHiv ET

2. A = o I fed e W femmen ST

(A) o6 - 318 (B) T - (C) (D) dfe

3. Trifera g o1 w@l foa ifa
(a) SirEnfies foarg erfufem G 1961
(b) Tgfd oy I (ii) 1948
(c) o1 HeigY Afufm (i) 1947
(d) =Aaw wegd sifufm (iv) 1970

4. fr=ifera ¥ 9 HIcHS S AT T8I 8 ?
(A) s (B) R
(C) “hefifereh (D) 3T = WHi
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5.  The author of the book “Why Survive ? Being old in America’ is :

(A) Amartya Sen (B)  Phillipson, C

(C) Butler, R. N (D) Margaret Mead
6.  The data generated by using observation methods is :

(A) Secondary data (B) Primary data

(C) Meta analysis (D) Text analysis

7.  Identity the correct sequence :
(A) Radical social work, Social diagnosis, Unitary approach
(B) Social diagnosis, Unitary approach, Radical social work
(C) Unitary approach, Radical social work, Social diagnosis

(D) Unitary approach, Social diagnosis, Radical social work

8.  The degree to which an instrument really measures what it claims to measure is
called :
(A) Construct (B) Delimitation (C) Validity (D) Reliability

9.  When was the All India Trade Union Congress formed ?

(A) 1919 (B) 1920 (C) 1921 (D) 1922

10. The Law of three stages of social development was originally propounded by :
(A) Karl marx (B) Talcott Parsons

(C) Auguste Compte (D) Herbert Spencer

J—1009 4
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‘I TEET ? ST 3iiee 37 SR’ A1 ot TE % oEs hiF ©

(A) 9 9 (B) Ttreiraed, €t
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(A) T ke (B) W TS
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(A) ATA IREHETGT HHIS hTd, HHETS I e, T SAFm
(B) HrHIrSIh AT F1eM, Tehtereh Sy, STel aRad-are! 991 sl

(C) WehTcHeh AW, STel IREdaTE! ST s, s W M

(D) ThIcHe FH, FrTfSieh 0T FeH, el aRedare) 99 s

TS feIit ah SUHTl Ida | A9 hidl & Torent foh o /19 61 <761 hdl § 931 sheaidl © :

(A) T (B) HiHiRA
(C) e (D) fowamraa
sita sfean g gf e =M &a ot oft ?

(A) 1919 (B) 1920 (Q) 1921

TSI o™ i T eTeensti &1 99 Ja §9 9 fhee gfqafeq foran -

(A) el T (B) ITciehe TTHTH
(C) T &< (D) e T
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11. Labour courtis a:
(A) Adjudicating authority (B) Settlement authority

(C) Voluntary authority (D) Social authority

12. According to the payment of wages Act 1936, the employer is authorised to deduct
from the wages of employee upto the maximum of :

(A) 25% (B) 50% (C) 75% (D) 90%

13. Council on social work education was established in the year :

(A) 1952 (B) 1947 (C) 1936 (D) 1949

14. The Medical termination of pregnancy Act came into force in the year :

(A) 1971 (B) 1972 (C) 1973 (D) 1974

15. Arrange the following in correct sequence :
(i)  Specific protection  (ii) Early diagnosis
(iii) Primary prevention (iv) Prompt and accurate treatment
(v)  Rehabilitation
(A) @ @) 3G @) )
(B) @) @ G ) ©)
© (v (@) G @6 (@v)
(D) @Gv) (v) (@) @@ @

16. Which one of the following is not an indicator of job satisfaction ?
(A) High rate of Labour Turnover (B) High Morale

(C) High Motivation (D) High Productivity

J—1009 6



11. 99 <TEd FE :
(A)  Afufqoriess it (B) dceE FIfeRTOl
(C) TWifes® Wikt (D) TSI HTfeeRTor

12. HSGH ae ifufam, 1936 % STTUR, fEiiE i, et st Aeigd § | Aferendd fohat
[T 2T H T SIHR §

(A) 25% (B) 50% (C) 75% (D) 90%

13. GO % foen afteg fovm ad o Tenfya foran e

(A) 1952 (B) 1947 (C) 1936 (D) 1949

14. HEihd THYA 3% I Toe ford o § @r foran o

(A) 1971 (B) 1972 (C) 1973 (D) 1974

15. fo=ifora =l WEl Ty H Hafem &g

() Taftre e, (i) URfH I M

(iii) WAt Jerem, (iv) gd T8 HEI-HRl ST=R
(v) g

(A) @) @) (D) (@v) (v)

(B) (i) @) @) (v) (V)

© (v) @) @G @ @)

(D) (@(v) (v) (@) () (i)

16. TT=ifra o ¥ U, Hd HAW 1 g T E
(A) 9 3TEd i 33 (B) 3= W&

(C) =AW (D) I IcUTehal
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17. One of the criticisms against Narco analysis is that :
(A) Itis a tentative method
(B) It is not a reliable method
(C) It exploits the helplessness of the subject

(D) Itis arisk to life

18. Casework methods are classified as :
(i)  Sustaining procedures
(i) Procedures of direct influence
(iii) Catharsis and
(iv) Reflective procedures by :
(A) Helen Harris Perlman (B) Mary Richmond

(C) Florence Hollis (D) Gordon Hamilton

19. Mark the correct explanation :
PORK, SOAP, SAP and STRAP are :
(A) Types of casework records
(B) Methods of treatment for juvenile delinquents
(C) Articles of utility

(D) Known shortforms

20. The author of the book ‘From charity to social work’ is :
(A) Mary Richmond (B) Friedlander, W

(C) Elizabeth. N. Agnew (D) Jane Adams
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17. i fagatwor o foeg eAei=mel § T @

g gAIfiTen (STemmEe) fafy g
g favagg fafa =i )

REESIES * SHRTIYIT hl AT 33Id1 %l

Ig AfF & Sie & fag sifem qof 71

18. JAfesh s Ugfadi 1 freiferd €9 & afigha fohem foma -

CERIRRERICIERIN

THe qUE i Tohartafe,

SHeofdy sk

EEENICRERIICIERII

Tor 3E et (B) i f=mvs
Tg Biferd (D) T e

19. W& =aren W o= o .

PORK, SOAP, SAP 3 STRAP &I & ?

Faferder & gor@l & JHR
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SYATT sl IET

M g Y &Y

20. ‘W =@ T GRIe o A S IR % ol SiF § 7

(A)
(©
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21.

22.

23.

24.

The person educated through a foreign language is sure to be unpatriotic :
(A) The statement is a fact

(B) The statement is an advice

(C) The statement is an opinion

(D) The statement is a prejudice

Match the following pairs :

(a) Association (i) 't test

(b) Dispersion (i) Chi-square

(c) Inference (iii) Correlation

(d) Difference (iv) Standard Deviation
Code :

Who classified values of social work as abstract and instrumental ?
(A) Kohs (B) Herbert Bisno

(C) Pumphery (D) Philip Klein

Which one of the articles of Indian Constitution authorises the Indian state to make
special provisions for women and children ?

(A) 16 (B) 15 (C) 23 (D) 17
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21.

22.

23.

24.

foeht s % wreem & fafaa safad stava & uve T A T
(A) TE FHUF FRAfIH B |
(B) T YT T T |

(C) I8 YT HA AT A T |

(D) I M < qaiE 7

freifera et =t T Hifery

(a) wE=E ()  A-ade
(b) foEwE (i) HE-FRR
(c) A= (iii) TEHEH

(d) = (iv) R forere
e

HATS 1 & Hedi hl STHd T8 |19 ey o €9 § fhed aiichd fohan ?
(A) B (B) Teie fawt (C) TRU (D) fwfera foem

IR HfaEM 1 S 3T, foril ta =i & fo fav geem sFm & fag yRd I
ol STHR AT & 2

(A) 16 (B) 15 (C) 23 (D) 17
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25. Arrange the following stages in correct order :

(i)

(i)
(ii)
(iv)
v)
(vi)

Identification of problem

Data collection instrument

Code book preparation

Research Questions

Objectives of the study

Data reduction

(vii) Data analysis

Code :

(v) (v) (i)
®) @) ()
® @) ()

(i
v)
(i

(i)  (vi) and (vii)

(iv) (vii) and (vi)

(iii) (vi) and (vii)

(iii) (vi) and (vii)

26. The difference between population parameter and sample statistic is called :

(A)

(©

Sampling error

Sampling bias

(B) Statistic

(D) Variance

27. Intervening variables can be controlled by :

28. A concept made measurable is called :

(A)

J—1009

Randomization

Conceptualization

Description

Operationalization

Attribute

(B)

Variable

(©

12

Theory

(D)

Value



25.

26.

27.

28.

fr=Aifera =Roll =1 9l Y H FafEed shife :

() HEE H IEAH

(i)  3The Hehetd SUHIT]

(ili) Hohd YRETRT (IS Foh) TAR HEAT
(iv) Y 9

(v) ST % |/

(vi) SRS BT =TT

(A) (V) (v) (i) () () (v) 3R (vii)
B) () () () (v) (@v) (vid) 3T (vi)
© @) (v) (v) () () (vi) 3R (vii)
(D) (v) (v) @) () (i) (vi) &R (vii)

SHEE grEd 3R gfdey Wiftere o st 31T oI FEardl ©
(A) wfae=m Ffe (B) wifers (C) WA qERE (D) STE

Headt =’ i fraf=a foa s e @

(A) Fgfesehtentol 51 (B) W0 R

(C) fereror g (D) HfsharcHeRdl (RERA ) g1
A9 A ST STAHRN R FATH

(A) fora (B) = (©) fasr (D) HA
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29. Match the following pairs :

(a) Theory of culture lag (i) E.M. Sutherland
(b)  Theory of differential association (i) Karl Marx
() Routinisation of Charisma (i) William Ogburn
(d) Conflict theory of change (iv) Max Weber
Code

@ ® © @
(A) (D) @) (@v) ()
(B) (v) (@) @) ()
Q) (D) @) (Gv) (@)
(D) @) @) (Gv) (@)

30. Millennium development goals consist of :
A) 8 goals, 18 targets and 48 indicators
B

~—"

(
( 8 goals, 20 targets and 31 indicators

(C) 18 goals, 28 targets and 38 indicators
(D) 28 goals, 28 targets and 28 indicators

31. The Child Labour Prohibition and abolition in Domestic and Hospitality services, Act is
passed in the year :

(A) 2005 (B) 1986 (C) 2006 (D) 2007

32. The successor of General Agreement on Tariffs and Trade (GATT) is :
(A) WTO (B) IMF
(©) ADB (D) World Bank

33. The Civil society Index is proposed by :
(A) UNDP (B) IMF
(©) CIVICUS (D) Transparency International

J—1009 14



29.

30.

31.

32.

33.

Freifera i 1 faemm sifs, < fou el @ 9@ S| 1 =99 S
(a) HERfa foeme =1 fagm () T WSAS

(b) Tavigsh wE=E 1 g (i)  <rel AT

(c) THRR T THR (iii) faferm sifmed

d) uRadd 1 dud fagra (iv) H IR

(@ M () @
(iv) (i)
H ()
(iv) @
(iv) @

o] s @eadi # wfae ©

(A) 83T, 18 AL 3R 48 Y+
(B) 8 IF, 20 A IR 31 YR
(C) 18 3TF, 28 @& IR 38 Y&
(D) 28 3T, 28 AeF 3R 28 ga&h

a1 g1 oy T e o R Afafy-weer Faretl § ard gm Ser Afufm fea ad § 7iia
g3l :

(A) 2005 (B) 1986 (C) 2006 (D) 2007

S Wi A SR%Y T0e T8 (GATT) 1 SaUfi ®

(A) T& 330 (B) TE.UH.UW. (C) wErH. (D) fava =
AT AN Yehioh foht wdifad foha -

(A) FTAELW. (B) STE.TH.UF.

(©) fafaww (D) R s=rwEe

J—1009 15 P.T.O.



34.

35.

36.

37.

Match the following pairs :

(a) Lewis Coser (i)  Field Theory
(b) Malinowski (i) Conflict Theory
(c) Kurt Lewin (iii) Rational Choice Theory
(d) James Coleman (iv) Exchange Theory
Code
(@ @ (© (@
(A) @) @v) @) (i)
B @O G @) ()
(© @) @) @) @
(D) @) G @ )

Which conference has brought in the concept of sustainable development ?

(A) Montreal Conference

(B) The Doha Conference

(C) The Rio Conference

(D) The world Social Forum 2005

The Human Development Index (HDI) as an index of measurement of development is
developed by :

(A) UNDP (B) World Bank  (C) WTO (D) IMF

Assertion (A) : Economic growth created opportunites for people and post-reform.
Period showed slow performance on macro-economic variables.

Reason (R) : There is Complementarity between economic growth and equity.
Which of the following is correct ?

A) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

B) Both (A) and (R) are correct and (R) is a correct explanation of (A)

C) Both (A) and (R) are wrong

D) (R) is correct but (A) is wrong
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34.

35.

36.

37.

freifera il o1 fre R ik = fou il @ et S| &1 =0 ifee

(a) TIEH HISK () Tice SRl
(b) Efcmisirnt (i) g fagra
() e dfam (iii) T Ha faeshey fagra
(d) SF FiaHT (iv) fafma fagr
HIE:
(@ (b (© (@
(A) @) (v) (@) (i)
B) @ () @) ()
Q) (@@ @) @v) @
(D) (@) (@) @ (iv)

RO T &1 TaRN fohe FHe = T¥qd i ¢
(A) Hifeaa giem (B) el g
(C) sl v (D) dee HRIA ®HIRA 2005

foshTd & AT % gEhich % €Y H AMG {9 Yahich A TR HI § 2
(A) JTAEL. (B) fova d=
(C) es.dna (D) 3. TH.TH.

AT (A):  oTfYF Ffg 7 @il & faw sraer gioa foran ok gur ST &
it -a7ifefer =Ri o e froafa <ot ©

T (R) : e Hafg iR Twean o o qReha 71
Frafafed § @ =9 @ et 82

(A) (A) 3R (R) T W& &, W (R), (A) T TE TR el |
(B) (A) 3R (R) SFI Tl § 31X (R), (A) 1 T TCIH |
(C) (A) 3R (R) SHI Terd |

(D) (R) §& g, T (A) T € |
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38.

39.

40.

41.

42,

43.

Whose approach in case work is considered an eclectic approach ?

(A) Florence Hollis (B) Jessy Taft

(C) H. H. Perlman (D) Mary Richmond
‘Role’ is :

(A) asocial group position (B) a partin a play

(C) amove in some direction (D) an undulating motion

Assertion (A) : People who are poor in mathematics join social sciences.
Reason (R) : Social sciences do not require high mathematical abilities.
Identify correct statements from below.

A) Both (A) and (R) are wrong

(
(B) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(C) Both (A) and (R) are correct

(

D) (A) is correct and (R) is wrong

Who called ‘Family Development tasks” as growth responsibilities ?
(A) Gordon Hamilton (B) Dural, E
(C) Mary Richmond (D) Frank Itzin

The National Rural Employment Guarantee Act was passed in the year :

(A) 2003 (B) 2005 (C) 2004 (D) 2000

Assertion (A) : Social Justice does not lead to equity.

Reason (R) : Social Justice demands reverse discrimination in favour of the worst off.
Identify the correct statement from the statement below :

(A) (A) is correct but (R) is wrong

(B) Both (A) and (R) are wrong

(C) (A) is wrong but (R) is correct

(D) (A) and (R) are correct but (R) is not the correct explanation of (A)

J—1009 18



38.

39.

40.

41.

42.

43.

Saferder il § foRd o STRFTH 1 Gehorare! SRR HeE Sl ® ¢

(A) TANE e (B) SiEHt 2w
(C) TA.TH. et (D) 4 f=mue
‘giﬁ:ﬁm’%t

(A)  EHISe 998 1 fearfa (B) ek H ofHehl
(C) Tordt feen ¥ e (D) W@ 7Ifa

AfawIT (A): I M S TG H HESIR, B § WIS T 1 fow o ¥
e (R) : AR 219 o g Tifordia aaansti i sTavdend Tl § |
= fou sl & |t 3T 1 =TT B

A) (A) 3R (R) ST Terd €

B) (A) 3R (R) 21 Tl € 31 (R), (A) T T TALEHT T
C) (A) 3R (R) i =&t €1

D) (A) %@l & 3R (R) Ted T |

~—

(
(
(
(

“aftar Farehr TR T sty fre e e ?
(A) TEARfaed (B) =9, G (C) Y Ravve (D) % gefs

T UTHOT TSR TR 2Afufom form ad o oifiq feran o ?
(A) 2003 (B) 2005 (C) 2004 (D) 2000

ATIRIT (A) :  HHITSTH =17 THAT 1 3R FI4 Tel a1 €|

e (R) : grTiSTeh =TT Gaifeeh W & el § Siaciedt deme i STueT il
i< fou Il | |t 3T 1 == H

(A)  (A) T& € T (R) oM 1

(B) (A) R (R) ST o € |

(C) (A)TTerd § W (R) §& 21

(D) (A) 3R (R) S T &, 7q (R), (A) F1 eI TIeientor 7 2 |
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44.

45.

46.

47.

The gas responsible for the depletion of the ozone layer in the atmosphere is :
(A) Carbon - dioxide

(B) Sulphur - di-oxide

(C) Chloro fluoro carbon

(D) Methane
The most advanced method of test used by modern forensic science is :
(A) Enzymology (B) Ultra sound

(C©) DNA (D) Finger print

Match the following pairs :

(a)  Erich Fromm (i) Das Kapital

(b) Jane Austen (ii) The Sane Society

(c) Karl Marx (iii) Pride and Prejudice

(d) J. Coleman (iv) Psychology and effective behavior
Code :

(@ B (o (@
(A) @ (D) G (
(B) (v) @) @) ()
(
(

(D) @) @)  (iv)

Which of the following is a principle of social group work ?
(A) Acceptance

(B) Identification of the felt needs

(C) Specific objectives

(D) Non-judgemental attitude
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44.

45.

46.

47.

TR § SIS 1 W % Rekitrtor (FHt) & forg it 19 fFer 2 2
(A) HEA-TE SRS

(B) HTHI-Si-3TES

(C)  FAN-Tel hTelA

(D) #A

MYk =raTefaes fom gR1 STEn it ST dTelt Faifuess 3o qler fafy o= €2

(A)  TASTEHTATST (B) 3Teel WSS (C) STAT (D) TR f4e
Tr=ifera gl o1 fie= ifsa
(@) TR wH (i) < Sded
(b) S 3ifed i) < ¥ dremEe
(c) el AT (i) UES TS Tfed
d) 3. ST (iv) WTEhicist e gihided farfamr
HiT
(@ () () @
(A) () (@) () (v)
(B) (v) (i) (i) ()
© () @) @ (v)
(D) (i) () (v) (i)

grTies w98 % o fagr friferd § 9 siAen €2
(A) wipfa

(B) SAIYd SRS hi TB=H

(©) fafere (a1 i) seea

(D) H-fuiers sfefa
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48. Match the following pairs :

(a) Rembrandt (i)  Extremist
(b) Tagore (i) Moderate
(c) B.G.Tilak (iii) Art

(d) G.K. Gokhale (iv) Poetry

(A) @) (@) @) ()
B) Gv) @ G) (i)
(© () @ (@) ()
(D) @) (v) (D) (i)

49. The Universal Inmunization programme was started in India in the year :

(A) 1975 (B) 1995 (C) 1955 (D) 1985

50. The test for identifying HIV antibodies is :

(A) CDM COUNT (B) ELISA
(C) CULTURE Test (D) HDL Test
-00o0-
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(a) T (i)  Afera
(b) T (i) TR
(c) Sl foetem (i) el
(d) SR e (iv) ohfer
HIE:

(@ B () @
(A) (@) @) @ ()
(B) @(v) (@) @) (i)
© (@) @) (Gv) (i)
(D) @) (@v) (D) (i)

49. gEfas Yfaeliertor wrfsn YR # forg o g fomam T

(A) 1975 (B) 1995 (C) 1955 (D) 1985

50. HIV WTafaehRent sl &= & T qemor A W R

(A) H.EwH TR (B) Ut
(C) he=R qiem (D) TAELTA. T
-00o0-
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Space For Rough Work



